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SEMMOARERERE
HR3—2 BEMICERT SLEESNDERICET HEE/D ) _ REEE | P30
AERmOLE | Bmes | 07052040 [ i e I Pt | | bR Pt T Fl
] SERMO TinICHEET 51 ZER A
ﬁg TREOBEBOEILHOKRES TEFEOHBEEILHIOKRES TEFEOBBOEILHOKRES TREOHBSSLIDKRES
5 X 4 B | Timh o DR NDKRES R 4 TimALDKE [ F& NDKES K 4 B | timhontks NDKES X tmhonlks | B NDKES
(m) (m) (kN/m) EEBfE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
1 100kN/mM%E#8x25 | 1.00 | 0.00 ~ 3.03 148.20 |3m#%#%5%| 000 ~ 0.10)] 3.05 16.35 | 100kN/mi£i#825 | 1.00 | 1053 ~ 2672 148.20 |3mZE#Bz2 5| 25.00 ~ 2672 | 3.05 16.35
s 1.00 | 3.03 ~ 1081 100.00 | #nLst | 0.10 ~ 1081 3.00 16.05 Thlst 1.00 | 5.00 ~ 1053 100.00 | =4t | 5.00 ~ 2500 3.00 16.05
2 100kN/mM%#8x25 | 1.00 | 0.00 ~ 2.73 143.12 |3mZE#Z 5| 000 ~ 080 | 3.54 18.95 | 100kN/mi%i#825 | 1.00 | 1270 ~ 28.16| 143.12 |3mE#BZ 5| 2000 ~ 2816 | 3.54 18.95
s 1.00 | 273 ~ 1052 100.00 | ZnkASt | 0.80 ~ 1052 3.00 16.05 Thlst 1.00 | 5.00 ~ 1270 100.00 | =4t | 5.00 ~ 2000 | 3.00 16.05
3 100kN/m##8x5% | 1.00 | 000 ~ 1.74 126.76 |3m%#z5| 000 ~ 111|385 20.62 | 100kN/m%#82% | 1.00 | 1672 ~ 29.34 126.76 |3mZE#BZB| 15.00 ~ 2934 3.85 20.62
s 1.00 | 1.74 ~ 9.53 100.00 | =St | .11 ~ 9.53 | 3.00 16.05 Thlst 1.00 | 5.00 ~ 16.72 100.00 | =nLst | 5.00 ~ 15.00 | 3.00 16.05
4 100kN/mM##8x5 | 1.00 | 0.00 ~ 35.76 161.00 |3m%#8%5%| 000 ~ 060 3.35 17.91 | 100kN/m#%#B%% | 1.00 | 10.84 ~ 3861 161.00 |3mZEi#BZ 5| 25.00 ~ 3861 3.835 17.91
s 1.00 | 376 ~ 1154 100.00 | EnLASY | 0.60 ~ 11.54| 3.00 16.05 Thlst 1.00 | 5.00 ~ 10.84 100.00 | =St | 5.00 ~ 2500 3.00 16.05
5 100kN/mM%#8x25 | 1.00 | 0.00 ~ 348 156.05 |3m%i#Bz25%| 000 ~ 028 315 16.84 | 100kN/mi£#825 | 1.00 | 1053 ~ 3639 | 156.05 |3mE{BZ2 5| 25.00 ~ 3639 3.15 16.84
s 1.00 | 348 ~ 1126 100.00 | ZnLASt | 0.28 ~ 11.26| 3.00 16.05 Thlst 1.00 | 5.00 ~ 1053 100.00 | =St | 5.00 ~ 2500 3.00 16.05
6 100kN/mM##8x5 | 1.00 | 0.00 ~ 525 152.05 |3m#Z#%%| 000 ~ 0.14] 3.07 16.44 | 100kN/m%#B%2% | 1.00 | 10.61 ~ 35.04 152.05 |3m%E#BZ 5| 30.00 ~ 35.04| 3.07 16.44
s 1.00 | 325 ~ 11.04 100.00 | #nLst | 0.14 ~ 1104 | 3.00 16.05 Thlst 1.00 | 5.00 ~ 10.61 100.00 | =nLst | 5.00 ~ 30.00 | 3.00 16.05
” 100kN/m#%#8z5| 1.00 | 0.00 ~ 295 146.87 [3mZE#EZASH| — ~ — — — | 100kN/m%#Bz25 | 1.00 | 1060 ~ 27.99| 146.87 |3mE#BZ5 - ~ — — —
FhLst 1.00 | 295 ~ 1074 100.00 | LS | 0.00 ~ 1074) 2.97 15.90 Fhst 1.00 | 5.00 ~ 10.60 100.00 | =4t | 5.00 ~ 2799 2.97 15.90
P 100kN/m%#82% | 1.00 | 0.00 ~ 1.41 121.47 [3mZE#EZASH| — ~ — — — | 100kN/m%# %% | 1.00 | 10.79 ~ 1534 121.47 |3m%E#BZ5 - ~ — — —
Thilst 1.00 | 1.41 ~ 9.20 100.00 | =hrist [ 0.00 ~ 9.20| 2.50 13.40 ZnLst 1.00 | 5,00 ~ 1079 100.00 | EnLS | 5,00 ~ 1534 | 2.50 13.40
9 100kN/m#%#8z5| 1.00 | 0.00 ~ 2.05 131.76 [3mZE#EZASH| — ~ — — — | 100kN/m%#%2% | 1.00 | 1057 ~ 1818 131.76 |3mZE#BZ5 - ~ — — —
Thilst 1.00 | 205 ~ 9.84 100.00 | =hrist [ 000 ~ 984 | 2.42 12.96 ZnLst 1.00 | 5,00 ~ 1057 100.00 | EnLS | 5,00 ~ 1818 | 2.42 12.96
10 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 7.37 94.03 | =n4t | 000 ~ 737 1.82 9.76 Fhst 1.00 | 5.00 ~ 9.61 94.03 | =hs | 5,00 ~ 9.61 | 1.82 9.76
11 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 6.52 82.22 | =ns 000 ~ 652 1.75 9.37 Fhst 1.00 | 5.00 ~ 7.76 82.22 | #hst | 5,00 ~ 7.76 | 1.76 9.37
19 100kN/m%#82% | 1.00 | 0.00 ~ 2.21 134.32 [3mZE#ASH| — ~ — — — | 100kN/m%E#%25% | 1.00 | 1061 ~ 1907 134.32 |3mZE#Z5 - ~ — — —
Thilst 1.00 | 221 ~ 9.99 100.00 | #hist | 000 ~ 999 | 2.45 13.09 TnLlst 1.00 | 5.00 ~ 1061 100.00 | =hilst | 5.00 ~ 19.07] 2.45 13.09
100kN/MZ#8 2 % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEEZD ~ 100kN/mM%E#Z 5 ~ ImEBZD ~
Ths ~ zhLst ~ ZzhLst ~ Ths ~
100kN/mMZ#8Z % ~ 3ImEEZD ~ 100kN/mM%E#Z 5 ~ ImEBZD ~
Ths ~ st ~ st ~ Ths ~
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